



Value

(1) Idle Parts Total 12841.89
 (2) Current Parts Total 334980.65
 (3) Total Parts 347822.54

Idle Capital Percentage (1)/(3) 3.69%

Off the Shelf Fill Rate

Quantity

(1) Total Off the Shelf 4224
 (2) Total Other 10
 (3) Total Quantity Sold 4234
 Off the Shelf Fill Rate (1)/(3) 99.7%

True Turn

Value

(1) Annualization Ratio (365/ 31) = 11.774
 (2) Total Stock Orders 400996.00
 (3) Annualized Stock Orders 4721326.90
 (4) Inventory Value 347822.54
 (5) True Turn (3)/(4) 13.57

*Note: Does NOT include Negative on Hand or "Dirty Cores"

Parts with Negative on Hand

Part Numbers

Cost Qty Extended

Total of Negative on Hand 0 .00 0 .00

Lost Sales

Part Numbers

Cost Qty Extended

Total Lost Sales 0 .00 0 .00

Parts Without Cost

Part Numbers

Total Parts Without Cost 129

Parts with No Bin Location

Part Numbers

Cost Qty Extended

Total Parts with No Bin Location 0 .00 0 .00

2

Value	#	Pieces	%	
13158.55	309		3.7	Active Parts: Stocked
73636.53	6301		20.7	Active Parts: With Excess Stock
2929.13	75		.8	Active Parts: Understocked
20202.72	785		5.7	Active Parts: To Phase Out
109926.93	7470		30.9	Total Active Parts
10880.24	437		3.1	Superseded With On Hand
234807.81	18081		66.0	Inactive With On Hand
355614.98	25988		100.0	Total Inventory To Sell
1812.25	12		.1	Cores on Hand
0	0		0	Negative On Hand
357427.23	26000		3002	Total of Inventory
42810.47	4358		573	Parts on Open Repair Orders
400237.70	30358		3575	Value of Inventory
11994.84	4341		2501	Not on Factory Master
0	0		129	Parts Without Cost

All Manf, All OEM Cd, All Grp

Inventory Agin

3

Part Number	Description	In	Invent	Last Sale	Bin/Shelf	Qty	Cost	Ext Cost
BM WU045	: WHEEL LOCK KEY		2/20/18	5/19/21	118B	2	32.09	64.18
BM WU046	: WHEEL LOCK KEY		2/20/18	5/22/21	118B	1	32.09	32.09
BM WU058	: WHEEL LOCK KEY		2/20/18	5/28/21	118B	1	32.09	32.09
BM WU059	: WHEEL LOCK KEY		2/20/18	5/06/21	118B	1	32.09	32.09
BM 07 11 9	905 949 : BOBIBIMIRRSAZN-SELF-LOCKING HE		1/07/15	5/12/21	BX18A	2	32.09	64.18
BM 07 11 9	906 089 : BOBIMIRRSAZN-Collar nut		7/20/15	5/12/21	BX53B	5	.62	34.72
BM 07 11 9	963 072 : BOBIBIRRSAZN-Gasket ring		10/22/09	5/25/21	BX5D	5	.66	3.30
BM 07 11 9	963 151 : BOBIMISA-Gasket ring		8/31/01	5/20/21	BX5H	22	.31	6.82
BM 07 12 9	952 107 : BOBIMISA-Hose clamp		1/01/88	5/28/21	101D	37	.37	13.69
BM 07 12 9	952 109 : BOBIMIRRSAZN-Hose clamp		1/01/88	5/24/21	101D	12	1.60	19.20
BM 07 14 6	951 655 : BISA-Blind rivet		12/22/08	5/27/21	101D	2	1.67	3.34
BM 07 14 6	959 925 : BIMIRRSAZN-C-clip nut, self-		3/17/10	5/12/21	101D	22	.58	12.76
BM 07 14 7	293 278 : BIMIRRSAZN-PHILLIPS SCREW F PL		1/14/00	5/28/21	BX62F	4	.50	2.00
BM 07 14 7	321 202 : BIMI-Expanding rivet, black		7/09/14	5/24/21	BX4C	10	.56	5.60
BM 07 14 9	126 886 : BIMI-Hex bolt		11/21/13	5/05/21	101D	49	1.60	78.40
BM 07 14 9	140 786 : BIMIRRSAZN-Hex bolt		9/12/11	5/12/21	BX49D	4	3.73	14.92
BM 07 14 9	213 164 : BISA-Blind rivet		7/23/07	5/07/21	BX57B	20	.75	15.00
BM 11 12 1	437 395 : BIMIRRSAZN-Hex bolt		4/06/12	5/03/21	BX7E	10	.62	6.20
BM 11 12 7	512 839 : BISA-Rubber seal		3/06/01	5/28/21	BX53G	50	.77	38.50
BM 11 12 7	552 280 : BISA-Cylinder head cover		5/02/07	5/28/21	102E	36	1.31	47.16
BM 11 12 7	570 292 : BISA-Gasket		2/07/11	5/03/21	223TOP	1	358.40	358.40
BM 11 12 7	584 128 : BISA-Cylinder head cover		5/02/11	5/29/21	102E	2	17.08	34.16
BM 11 12 7	589 830 : BISA-Vent hose		5/24/13	5/29/21	108TOP	4	398.22	1592.88
BM 11 13 7	535 106 : BISA-Gasket		5/13/13	5/26/21	104C	3	33.51	100.53
BM 11 13 7	548 031 : BIMISAZN-Screw plug		12/30/11	5/20/21	BX69D	7	3.84	26.88
BM 11 22 7	805 708 : BISA-PROFILE-GASKET		12/08/11	5/10/21	BX36D	5	3.77	18.85
BM 11 28 7	603 084 : BISA-ISA screw		9/10/16	5/25/21	229B	3	34.15	102.45
BM 11 28 7	628 650 : BISA-RIBBED V-BELT		6/01/16	5/27/21	105G	7	3.52	24.64
BM 11 36 7	609 963 : BISA-RIBBED V-BELT		4/15/08	5/13/21	104G	1	11.94	11.94
BM 11 36 7	605 123 : BIMIMISAZN-ASA screw, self-thr		4/25/13	5/29/21	BX66A	3	32.17	96.51
BM 11 37 7	583 786 : BIRRSA-Solenoid valve (SOLV)		5/30/13	5/20/21	BX69D	34	.63	21.42
BM 11 37 7	589 883 : BISA-Oil Spraying Nozzle		4/07/14	5/26/21	103F	1	147.15	147.15
BM 11 37 7	603 979 : BISA-Eccentric shaft		4/29/11	5/26/21	BX17B	1	24.67	24.67
BM 11 37 7	615 379 : BISA-Actuator		4/29/11	5/26/21	203E	1	721.89	721.89
BM 11 42 7	511 161 : BIRRSA-Needle bearing		8/25/11	5/26/21	202E	1	306.85	306.85
BM 11 42 7	512 300 : BISA-Set oil-filter element		7/02/02	5/24/21	120C	12	10.34	124.08
BM 11 42 7	525 334 : BISA-Set oil-filter element		6/20/00	5/28/21	100F	1	12.71	12.71
BM 11 42 7	542 021 : BIRSA-OIL FILTER COVER		10/25/11	5/05/21	202F	4	9.01	36.04
BM 11 42 7	578 079 : BIRR-Set oil-filter element		4/18/05	5/20/21	100F	2	28.78	57.56
BM 11 42 7	788 460 : BISA-O-ring		4/18/13	5/25/21	100F	2	12.71	25.42
BM 11 42 8	624 158 : BISA-Set oil-filter element		10/06/09	5/01/21	BX5C	6	1.67	10.02
BM 11 42 8	678 840 : BISA-Gasket Asbestos Free		3/10/15	5/25/21	100D	6	11.71	70.26
BM 11 51 0	392 553 : BI-OIL PIPE INLET		6/17/15	5/19/21	BX65E	1	6.84	6.84
BM 11 51 7	586 925 : BISA-Set of alu. screws water		12/07/07	5/28/21	101K	1	32.04	32.04
BM 11 53 7	545 278 : BISA-Coolant pump, electric		12/07/07	5/28/21	BX20D	1	6.70	6.70
BM 11 53 7	549 476 : BISA-O-ring		6/17/09	5/12/21	104B	2	263.32	526.64
BM 11 53 7	598 865 : BI-Thermostat		3/05/07	5/12/21	BX6A	2	3.61	7.22
BM 11 53 7	601 158 : BI-Thermostat		4/04/18	5/14/21	104B	2	93.43	186.86
BM 11 53 8	663 516 : BISA-Thermostat		1/10/13	5/06/21	203A	2	93.43	186.86
BM 11 53 8	663 517 : BISA-Coolant pipe, supply line		12/20/16	5/19/21	103B	1	93.43	93.43
BM 11 53 8	671 516 : BISA-Coolant pipe, return line		12/20/16	5/19/21	104D	1	51.29	51.29
BM 11 65 7	620 507 : BI-Thermostat		5/23/14	5/19/21	104D	1	53.98	53.98
BM 11 65 7	620 507 : BIRRSA-Screw clamp		2/28/14	5/25/21	105C	1	93.43	93.43
BM 11 65 7	620 507 : BIRRSA-Screw clamp		2/28/14	5/25/21	101J	6	17.61	105.66

MF	Part	Number/Description	Invent	Last Sale	Bin/Shelf	Qty	Cost	Ext Cost
BM	11 78	7 589 121 : BISA-Oxygen sensor	6/10/13	5/12/21	102G	1	162.40	162.40
BM	12 12	0 037 244 : BISA-Spark plug, High Power	1/22/08	5/18/21	101E	7	11.40	79.80
BM	12 12	0 047 946 : B1-Spark plug, High Power	3/05/18	5/20/21	101E	10	14.25	142.50
BM	12 12	2 158 253 : BISA-Spark plug, High Power	1/02/09	5/27/21	101E	18	14.25	256.50
BM	12 12	2 455 258 : BIBIMT-Spark plug, High Power	10/04/17	5/22/21	133F	6	14.96	89.76
BM	12 31	0 392 568 : BISA-Set of alu. screws genera	12/23/09	5/19/21	BX37F	2	9.69	19.38
BM	12 42	3 420 477 : SA-Ground cable	5/30/14	5/11/21	118G	2	35.00	35.00
BM	12 42	7 565 100 : BISA-Ground cable	11/17/14	5/06/21	118D	2	35.00	70.00
BM	12 51	7 592 508 : BISA-Wiring loom, eng., Valvet	3/04/13	5/26/21	1101	1	97.25	97.25
BM	13 32	8 572 552 : BIMT-Fuel filter cartridge	7/06/15	5/26/21	105F	1	37.10	74.20
BM	13 53	2 247 156 : BIMSA-Gasket ring	10/23/14	5/28/21	BX39D	2	5.50	55.00
BM	13 62	7 525 015 : BIBISA-Pulse sensor crankshaft	10/29/09	5/06/21	BX32E	1	88.34	88.34
BM	13 62	8 589 844 : BISA-Sensor for NOX	10/24/16	5/05/21	104G	1	273.00	273.00
BM	13 71	7 542 294 : B1-Air filter element	8/30/06	5/21/21	102C	2	25.42	50.84
BM	13 71	7 577 457 : BISA-Air filter element	7/07/11	5/29/21	109A	2	19.06	38.12
BM	13 71	7 577 458 : BISA-Air filter element	7/07/11	5/29/21	109A	2	19.06	38.12
BM	13 71	8 507 321 : B1-Intake grill	3/02/15	5/06/21	104K	1	6.46	6.46
BM	13 71	8 635 091 : B1-Intake grill	10/29/18	5/14/21	102G	1	21.01	21.01
BM	13 71	8 691 835 : B1-Air filter element	5/04/20	5/11/21	102A	1	26.70	26.70
BM	13 72	9 502 014 : B1-Set, air filter insert	12/14/20	5/22/21	133F	1	60.06	60.06
BM	13 90	7 614 013 : BIMIZN-Fuel tank breather valv	4/21/17	5/17/21	102E	1	72.99	72.99
BM	13 90	7 618 643 : BISA-Fuel tank ventilation val	7/15/08	5/14/21	105E	1	72.99	72.99
BM	16 11	7 222 391 : B0BIMIRSA-Filler cap	3/30/05	5/11/21	102F	3	20.39	61.17
BM	16 11	7 243 975 : B1-Supply module	11/27/13	5/05/21	220SIDE	1	274.30	274.30
BM	16 11	7 428 463 : B1-O-ring	5/01/15	5/25/21	BX58C	2	6.34	12.68
BM	16 11	7 934 456 : B1-Delivery unit with in-tank	10/18/17	5/12/21	112TOP	1	112.36	112.36
BM	16 12	1 180 240 : B0B1BIMISA-Hose clamp	8/01/94	5/19/21	101D	8	7.88	7.88
BM	16 13	7 373 623 : B1-Venting line with leak diag	10/24/17	5/27/21	106I	1	94.12	94.12
BM	16 13	7 404 081 : B1-Venting line with leak diag	7/17/18	5/11/21	203D	1	94.12	94.12
BM	16 13	7 436 248 : B1-dust filter	3/31/15	5/15/21	118G	1	39.80	39.80
BM	16 14	7 407 513 : BISA-Control unit for fuel pum	9/29/10	5/25/21	103D	1	245.34	245.34
BM	17 11	7 521 781 : BISA-Control sleeve	3/02/10	5/18/21	BX74F	1	8.67	8.67
BM	17 11	7 537 292 : B1-Radiator	11/20/07	5/18/21	227E	1	446.64	446.64
BM	17 11	7 573 781 : BISA-EXPANSION TANK	5/01/02	5/27/21	214D	2	81.49	162.98
BM	17 11	7 575 251 : B1RR-Damping element	4/18/12	5/21/21	BX33E	4	5.78	23.12
BM	17 11	7 596 922 : B1-BRACKET UPPER	10/30/14	5/07/21	BX74C	1	14.36	14.36
BM	17 11	7 596 923 : B1-Support sleeve	10/30/14	5/07/21	BX15A	7	1.98	13.86
BM	17 11	7 600 536 : B1-Module mount, left	11/21/13	5/06/21	218A	1	41.71	41.71
BM	17 11	7 600 539 : B1-Module bushing	10/30/14	5/06/21	BX15A	2	6.92	13.84
BM	17 11	7 639 020 : BIBISA-Screw cap for expansion	2/18/13	5/14/21	102F	3	13.90	41.70
BM	17 11	8 672 106 : B1-Radiator	11/26/12	5/06/21	227E	1	275.13	275.13
BM	17 11	9 468 695 : B1-Radiator	8/17/18	5/12/21	226E	1	260.00	260.00
BM	17 11	9 797 807 : B1-Radiator	7/14/20	5/11/21	226E	2	288.90	577.80
BM	17 12	7 525 870 : BISA-Line, heater return - the	11/29/11	5/10/21	225C	1	73.18	73.18
BM	17 12	7 531 579 : BISA-Hose from engine to radia	4/23/10	5/18/21	115D	1	47.20	47.20
BM	17 12	7 531 581 : B1-Hose from radiator bottom -	1/21/13	5/07/21	115F	1	47.20	47.20
BM	17 12	7 618 510 : BISA-Venting line radiator top	6/17/10	5/18/21	212B	1	30.68	30.68
BM	17 12	8 651 298 : B1-Vent hose	6/30/17	5/29/21	115E	1	25.96	25.96
BM	17 13	7 640 515 : BISA-EXPANSION TANK	1/07/15	5/29/21	218F	2	93.71	187.42
BM	17 22	7 581 147 : BISA-O-ring	4/18/12	5/10/21	BX1A	2	1.75	3.50
BM	18 30	7 553 601 : B1RRSA-Gasket exh.turbocharger	7/12/11	5/28/21	101J	3	15.36	46.08
BM	18 30	7 560 815 : BIMIRR-CLAMPING BUSH	11/13/15	5/20/21	102F	2	35.89	71.78
BM	18 30	7 597 650 : B1RR-Collar nut	4/18/13	5/25/21	BX34F	10	3.65	36.50

MF	Part	Manf	All OEM Cd	All SGrp	Description	In	Invent	Last	Bin/Shelf	Qty	Cost	Ext Cost
BM	18 30	7	606	136	: BIBIMISAZN-Screw clamp		7/03/13	5/21/21	102J	2	23.11	46.22
BM	18 30	7	843	213	: B1-Gasket ring		4/29/14	5/25/21	BX21C	2	15.36	30.72
BM	22 32	6	854	187	: B1SA-Gearbox support		3/23/17	5/27/21	134A	1	136.89	136.89
BM	24 11	8	612	901	: B1RRSA-Kit, oil pan fluid fillt		6/07/12	5/28/21	212A	1	142.06	142.06
BM	31 10	6	767	496	: B1SA-LOCKING NUT		12/06/13	5/14/21	BX43C	4	3.54	14.16
BM	31 10	6	774	714	: B1MIRRSa-SELF-LOCKING HEX NUT		11/14/06	5/12/21	BX49A	8	1.73	13.84
BM	31 12	6	763	719	: B1SA-Hydrobearing		4/07/11	5/14/21	104J	4	55.69	222.76
BM	31 12	6	768	818	: B1SA-Hydrobearing		12/30/11	5/03/21	104J	2	46.82	93.64
BM	31 12	6	777	734	: B1-Tension strut with hydrauli		1/14/16	5/29/21	PB3	1	216.56	216.56
BM	31 12	6	783	376	: B1-Set of brackets with rubber		6/11/01	5/28/21	106I	1	140.52	140.52
BM	31 60	7	618	680	: B1-Output shaft right		4/06/12	5/29/21	230TOP	1	942.95	942.95
BM	32 10	5	A3B	7E5	: B1-Steering gear, electric		3/17/21	5/20/21	238A	1	1760.18	1760.18
BM	32 10	6	765	080	: B1BIMIRSAZN-CLAMPING BOLT		1/13/15	5/26/21	BX30B	3	4.25	12.75
BM	32 10	6	784	719	: B1RR-RIGHT TIE ROD		9/03/15	5/13/21	PB3	1	154.59	154.59
BM	32 30	6	793	632	: B1MISA-STEERING ANGLE SENSOR		6/02/09	5/11/21	116B	1	241.42	241.42
BM	32 30	6	888	429	: B1-Repair kit, airbag		8/28/17	5/12/21	239SIDE	1	33.59	33.59
BM	32 41	6	788	696	: B1RRSA-O-ring		5/01/12	5/21/21	BX5C	2	5.81	11.62
BM	33 32	1	092	870	: B1SA-Hex Bolt		5/22/21	5/29/21	103J	1	18.99	18.99
BM	33 32	6	760	374	: B1MIRRSa-Self-locking collar n		3/14/02	5/05/21	BX55D	4	3.94	15.76
BM	33 32	6	768	884	: B1BIMISAZN-Hexagon nut with co		12/30/09	5/14/21	BX62C	11	1.21	13.31
BM	33 40	6	765	432	: B1RRSA-Torx screw		9/03/09	5/26/21	BX43E	6	2.96	17.76
BM	33 40	6	787	015	: B1-Angular-contact ball bearin		8/15/16	5/25/21	105E	1	91.64	91.64
BM	33 40	6	787	466	: B1-Torx screw		8/15/16	5/25/21	BX17A	11	3.23	35.53
BM	33 52	6	773	882	: B1MISA-SELF-LOCKING HEX NUT		1/06/03	5/27/21	BX32B	8	1.08	8.64
BM	33 52	6	873	761	: B1-Shock absorber, rear		9/11/15	5/15/21	229D	2	112.32	224.64
BM	34 10	6	878	778	: B1-Repair kit, brake pads asbe		5/31/13	5/28/21	109B	1	109.32	109.32
BM	34 11	6	898	729	: B1-Repair kit, brake pads asbe		1/09/20	5/13/21	107E	1	95.66	95.66
BM	34 11	6	790	759	: B1SA-Repair kit, brake pads as		11/18/10	5/20/21	108E	1	86.54	86.54
BM	34 11	6	793	021	: B1-Repair kit, brake pads asbe		8/11/11	5/29/21	108B	1	121.16	121.16
BM	34 11	6	855	006	: B1SA-Brake disc, ventilated		3/25/08	5/20/21	114D	2	99.81	199.62
BM	34 11	6	855	006	: B1SA-Brake disc, ventilated		1/25/11	5/20/21	111D	4	66.54	266.16
BM	34 11	6	864	058	: B1-Brake disc, ventilated		12/03/10	5/28/21	114D	1	57.32	57.32
BM	34 11	6	872	632	: B1-Repair kit, brake pads asbe		12/19/12	5/25/21	107F	1	84.27	84.27
BM	34 11	6	896	652	: B1-Brake disc, lightweight, ve		12/19/12	5/25/21	111A	4	99.51	398.04
BM	34 11	6	898	729	: B1-Brake disc, lightweight, ve		4/12/12	5/29/21	114A	1	139.30	139.30
BM	34 11	6	898	730	: B1-Brake disc, lightweight,ven		4/12/12	5/29/21	114A	1	139.30	139.30
BM	34 20	6	898	494	: B1-Brake disc, ventilated, rig		1/14/20	5/27/21	111D	1	124.00	124.00
BM	34 21	6	790	761	: B1SA-Repair kit, brake pads-as		4/25/11	5/27/21	108E	2	61.65	123.30
BM	34 21	6	792	227	: B1-Brake disc, ventilated		4/06/11	5/14/21	111C	2	69.93	139.86
BM	34 21	6	855	004	: B1SA-Brake disc, ventilated		2/21/06	5/20/21	114A	4	81.18	324.72
BM	34 21	6	860	925	: B1-Brake disc, lightweight, ve		12/30/19	5/27/21	113B	4	127.46	509.84
BM	34 32	1	156	893	: B0B1B1MIRSA-Hose clamp		6/19/12	5/18/21	101D	4	.94	.94
BM	34 35	6	789	440	: B1-Brake pad wear sensor		2/28/08	5/20/21	106F	1	15.43	15.43
BM	34 35	6	792	561	: B1SA-Brake pad wear sensor, fr		1/25/11	5/20/21	106F	2	17.14	34.28
BM	34 35	6	792	564	: B1-Brake pad wear sensor		8/04/11	5/04/21	106F	2	18.00	36.00
BM	34 35	6	792	565	: B1SA-Brake pad wear sensor		1/18/14	5/20/21	106G	2	21.17	42.34
BM	34 35	6	870	349	: B1B1-Brake pad wear sensor, fr		1/09/20	5/18/21	133E	1	19.06	19.06
BM	34 35	6	870	354	: B1B1-Brake pad wear sensor, re		1/13/20	5/07/21	106G	1	19.06	19.06
BM	36 10	6	874	842	: B1RR-Rep. kit, screw valve for		4/12/17	5/26/21	BX39H	1	17.49	17.49
BM	36 10	6	881	474	: B1RR-Contrl unit RDC		12/23/15	5/12/21	105H	1	238.00	238.00
BM	36 10	6	887	147	: B1RR-Wheel electr. module RDC1		7/09/18	5/14/21	101H	3	77.00	231.00
BM	36 11	2	199	577	: B1-245/45R19 102V Eagle LS2 RO		12/31/10	5/25/21	GOODYEA	4	283.00	1132.00
BM	36 11	2	287	323	: B1-Pirelli scorpion verde A/S		4/09/14	5/27/21	PIRELLI	8	242.00	1936.00

MF	Part	Number/Description	Invent	Last Sale	Bin/Shelf	Qty	Cost	Ext Cost
BM	36 11	2 298 919 : B1-225/50 r17 94v contiprocont	2/21/12	5/26/21	CONTINE	8	179.00	1432.00
BM	36 11	2 304 247 : B1-255/35 R19 92Y Potenza S001	3/02/15	5/20/21	BRIDGES	1	325.00	325.00
BM	36 11	2 304 248 : B1-225/40 R19 89Y Potenza S001	10/02/14	5/12/21	BRIDGES	2	310.00	620.00
BM	36 11	2 334 878 : B1-225/45 R18 91V Contiprocont	5/20/13	5/28/21	CONTINE	9	208.00	1872.00
BM	36 11	2 405 006 : B1-Pirelli cinturato p7 A/S RF	1/21/15	5/28/21	PIRELLI	4	230.00	920.00
BM	36 11	2 408 265 : B1-GoodYear eagle ls2 rof xl b	3/31/15	5/14/21	GOODYEA	6	259.00	1554.00
BM	36 11	2 420 042 : B1-Pirelli cinturato p7 A/S RF	5/09/16	5/22/21	PIRELLI	4	292.00	1088.00
BM	36 11	2 459 983 : B1-Pirelli pzero pz4 (luxury)	5/11/20	5/28/21	PIRELLI	1	295.00	295.00
BM	36 11	2 462 811 : B1-Pirelli cinturato p7 A/S RF	4/01/19	5/17/21	PIRELLI	4	212.00	848.00
BM	36 11	2 470 490 : B1-PIRELLI SCORPION ZERO A/S R	9/03/19	5/20/21	PIRELLI	1	259.00	259.00
BM	36 11	5 A19 C47 : B1-BRIDGESTONE TURANZA LS100A	3/06/20	5/27/21	BRIDGES	1	276.00	276.00
BM	36 11	6 783 631 : B1-Light alloy rim	2/24/10	5/18/21	235A	1	252.12	252.12
BM	36 11	6 796 247 : B1-Light alloy rim Ferricgrey	7/27/13	5/26/21	235B	1	339.24	339.24
BM	36 11	6 862 420 : B1-Disk wheel, light alloy, in	12/27/17	5/15/21	235A	1	345.84	345.84
BM	36 11	7 842 652 : B1-Disc wheel, light alloy, de	12/08/10	5/29/21	235B	2	463.68	927.36
BM	36 12	2 455 269 : B1SA-Hub cap fixed	4/29/19	5/29/21	117E	1	67.84	67.84
BM	36 13	2 453 959 : B1SA-SET WHEEL LOCKS	4/06/11	5/26/21	118B	1	49.20	49.20
BM	36 13	6 765 544 : B1MISA-ADAPTOR WITH CODE	2/04/10	5/06/21	BX40B	1	9.54	9.54
BM	36 13	6 776 076 : B1MISA-SET WHEEL LOCKS	1/08/13	5/05/21	118B	7	47.40	331.80
BM	36 14	6 792 829 : B1MIRSA-SCREW-IN VALVE RDC	7/21/05	5/29/21	BX68B	2	17.49	34.98
BM	36 14	6 792 830 : B1MIRSA-SCREW-IN VALVE RDC	11/02/09	5/26/21	BX68F	2	17.49	34.98
BM	37 22	1 092 403 : B1RRSA-SCREWED CONNECTION	6/17/13	5/28/21	BX62A	8	2.19	17.52
BM	41 00	7 431 619 : B1-Complete tail trim,	9/13/19	5/28/21	237A	1	335.80	335.80
BM	41 00	7 440 840 : B1-OUTER PANEL TAIL TRIM	9/13/19	5/28/21	208A	1	235.04	235.04
BM	41 34	7 240 434 : B1-Complete tail trim	5/22/12	5/01/21	207A	1	329.20	329.20
BM	41 34	7 297 994 : B1-Tail trim	10/30/13	5/06/21	208A	1	238.56	238.56
BM	41 35	7 298 038 : B1-Side panel bracket, front r	9/18/13	5/24/21	102H	1	23.89	23.89
BM	41 35	8 066 938 : B1-Side panel bracket, front r	9/18/13	5/24/21	102H	1	69.65	69.65
BM	51 11	7 207 299 : B1-Flap, towing eye, primed	9/16/09	5/28/21	BX42D	1	16.91	16.91
BM	51 11	7 266 195 : B1-Deformation element, front	6/17/13	5/06/21	PB3	2	45.80	91.60
BM	51 11	7 266 196 : B1-Deformation element, front	6/17/13	5/06/21	PB3	2	45.80	91.60
BM	51 11	7 272 555 : B1-Guide bumper, left lower	9/23/16	5/10/21	BX52B	1	11.29	11.29
BM	51 11	7 289 912 : B1-shock absorber, front	4/10/14	5/05/21	208A	2	46.85	93.70
BM	51 11	7 294 476 : B1-Grill, center upper	10/17/14	5/13/21	204TOP	1	44.46	44.46
BM	51 11	7 294 478 : B1-Shock absorber front	10/17/14	5/12/21	206TOP	1	43.74	43.74
BM	51 11	7 294 831 : B1-Partially open grid, left	9/29/14	5/05/21	219D	1	43.56	43.56
BM	51 11	7 294 838 : B1-Insert, air intake, center	5/23/17	5/05/21	230A	1	72.59	72.59
BM	51 11	7 303 111 : B1-Cover, air duct, left	6/04/15	5/13/21	213C	3	42.95	128.85
BM	51 11	7 303 113 : B1-Trim on grill, side, left	11/05/14	5/12/21	219B	2	61.00	122.00
BM	51 11	7 315 106 : B1-Finisher, rod, right	4/22/14	5/21/21	103K	1	20.15	20.15
BM	51 11	7 315 473 : B1-Cover, lower part center	1/27/14	5/05/21	227A	2	26.56	53.12
BM	51 11	7 338 528 : B1-License plate holder	3/03/15	5/10/21	221C	1	36.72	36.72
BM	51 11	7 363 392 : B1-Flap, towing eye, primed	4/10/14	5/05/21	BX50G	1	18.77	18.77
BM	51 11	7 385 282 : B1-Protective strip lines righ	6/17/19	5/21/21	219D	1	34.75	34.75
BM	51 11	7 385 289 : B1-Carrier, bumper front	6/13/18	5/04/21	206A	2	307.66	615.32
BM	51 11	7 387 126 : B1-Set of mounts, front PDC /	11/17/14	5/05/21	204E	7	38.07	266.49
BM	51 11	7 396 837 : B1-Cover, tow fitting, front,	3/23/16	5/24/21	BX64D	1	18.77	18.77
BM	51 11	7 397 413 : B1-LOWER TRIM PANEL	10/17/14	5/12/21	211A	1	142.98	142.98
BM	51 11	7 397 616 : B1-Air inlet finisher, right	1/30/18	5/24/21	118D	1	17.55	17.55
BM	51 11	7 399 897 : B1-Flap, towing eye	10/17/19	5/05/21	102K	1	17.97	17.97
BM	51 11	7 399 898 : B1-Grill, air intake, center	4/16/19	5/13/21	202TOP	3	44.46	133.38
BM	51 11	7 399 912 : B1-Mount, bumper, front, lower	7/19/18	5/05/21	217TOP	1	174.42	174.42
BM	51 11	7 399 981 : B1-Bumper guide, left upper	7/19/18	5/13/21	103G	3	19.66	58.98

MF	Part	Number/Description	Invent	Last Sale	Bin/Shelf	Qty	Cost	Ext Cost
BM	51 11	7 399 982 : B1-Bumper guide, right upper	4/26/19	5/05/21	BX39G	3	19.66	58.98
BM	51 11	7 399 983 : B1-Guide bumper, left lower	7/19/18	5/17/21	103G	1	23.84	23.84
BM	51 11	7 399 984 : B1-Bumper guide right lower	4/26/19	5/05/21	105D	1	23.84	23.84
BM	51 11	7 415 631 : B1-Base	4/16/19	5/13/21	233B	2	125.77	251.54
BM	51 11	7 418 413 : B1-Air Curtain left	12/12/19	5/13/21	219C	2	21.68	43.36
BM	51 11	7 420 871 : B1-Grille side open left with	11/20/19	5/13/21	215TOP	2	44.46	88.92
BM	51 11	7 421 987 : B1-Impact strip, side, left	6/14/19	5/13/21	218F	2	34.75	69.50
BM	51 11	7 432 619 : B1-Trim Sport Line left	9/28/17	5/08/21	212C	1	52.61	52.61
BM	51 11	7 432 620 : B1-Trim Sport Line right	9/28/17	5/08/21	214E	1	52.61	52.61
BM	51 11	7 453 999 : B1-Trim for bumper, bottom sec	7/14/16	5/03/21	205B	1	87.61	87.61
BM	51 11	7 459 519 : B1-Cover panel for air inlet 1	8/01/19	5/13/21	104G	3	38.11	114.33
BM	51 11	7 469 880 : B1-Support	5/14/19	5/14/21	105E	2	11.15	22.30
BM	51 11	8 054 546 : B1-Shock absorber front	7/26/16	5/06/21	205TOP	1	46.85	46.85
BM	51 11	8 064 980 : B1-RIGHT FINISHER	9/11/19	5/12/21	218C	1	36.69	36.69
BM	51 12	2 457 473 : B1-Set of mounted parts, bumper	2/11/21	5/06/21	BX14B	1	16.04	16.04
BM	51 12	7 256 921 : B1-Reinforcement for bumper, r	10/30/13	5/26/21	216A	2	36.09	72.18
BM	51 12	7 256 922 : B1-Guide, center rear	10/30/13	5/13/21	205TOP	2	29.79	59.58
BM	51 12	7 285 543 : B1-Carrier, bumper rear	1/25/16	5/05/21	206A	1	197.57	197.57
BM	51 12	7 285 563 : B1-Reinforcement for bumper, r	1/25/16	5/05/21	224F	1	36.61	36.61
BM	51 12	7 294 756 : B1-Underdrive protection	5/13/15	5/07/21	233A	2	295.62	591.24
BM	51 12	7 294 812 : B1-Decorative strip	3/23/16	5/05/21	239B	1	47.91	47.91
BM	51 12	7 299 970 : B1-Adapter	5/11/12	5/06/21	212D	1	55.00	55.00
BM	51 12	7 308 071 : B1-Trim strip, bumper, rear	5/13/15	5/07/21	218TOP	1	96.46	96.46
BM	51 12	7 315 962 : B1-Carrier, bumper rear	12/08/15	5/07/21	206A	1	358.58	358.58
BM	51 12	7 316 350 : B1-Guide, center rear	8/28/15	5/05/21	230A	3	29.79	89.37
BM	51 12	7 338 758 : B1-Mount for bumper, right rea	5/09/16	5/06/21	211A	1	69.66	69.66
BM	51 12	7 338 792 : B1-Panel for bumper, rear	11/17/14	5/19/21	236TOP	1	80.77	80.77
BM	51 12	7 363 264 : B1-Flap, towing eye, primed	8/21/14	5/19/21	BX48G	2	18.77	37.54
BM	51 12	7 369 197 : B1-Carrier, bumper rear	4/03/12	5/06/21	233B	2	336.85	673.70
BM	51 12	7 384 332 : B1-Trim panel, bumper, rear, b	5/13/15	5/07/21	235TOP	1	144.13	144.13
BM	51 12	7 384 571 : B1-Trim strip, black	2/16/16	5/26/21	209TOP	1	48.02	48.02
BM	51 12	7 384 603 : B1-Bumper trim panel, primered	2/12/16	5/26/21	204SIDE	1	450.44	650.44
BM	51 12	7 387 296 : B1-Reinforcement for bumper, r	7/30/18	5/18/21	231A	1	43.77	43.77
BM	51 12	7 387 297 : B1-Guide, center rear	7/30/18	5/18/21	207A	1	36.04	36.04
BM	51 12	7 389 972 : B1-Trim strip, bumper, rear	9/18/19	5/18/21	239G	1	67.43	67.43
BM	51 12	7 400 678 : B1-Underdrive guard, rear	12/07/18	5/20/21	233B	2	126.61	253.22
BM	51 12	7 445 146 : B1-Kit, mount for PDC/PMA sens	2/12/16	5/26/21	104J	3	33.85	101.55
BM	51 12	7 470 968 : B1-Kit, mount for PDC/PMA sens	12/19/15	5/05/21	BX45F	1	33.85	33.85
BM	51 12	7 475 599 : B1-Bumper trim panel, primered	7/31/18	5/18/21	204SIDE	1	618.69	818.69
BM	51 12	7 488 230 : B1-Panel for bumper, rear	12/11/18	5/20/21	236B	1	310.15	310.15
BM	51 12	7 498 371 : B1-Kit, mount for PDC/PMA sens	3/01/19	5/18/21	BX41H	1	34.87	34.87
BM	51 12	8 094 860 : B1-Trim panel, bumper, rear, b	4/23/19	5/20/21	237TOP	1	141.51	141.51
BM	51 13	7 120 008 : B1-Grille w chrome frame, righ	4/07/10	5/28/21	220B	1	44.30	44.30
BM	51 13	7 258 183 : B1ZN-Clip, drip molding	11/29/12	5/22/21	BX18B	14	1.10	15.40
BM	51 13	7 294 817 : B1-Grille, front, left	11/17/14	5/05/21	216A	1	59.07	59.07
BM	51 13	7 294 818 : B1-Grille, front, right	11/17/14	5/05/21	216A	2	59.07	118.14
BM	51 13	7 416 456 : B1-Adjustment element	10/27/16	5/05/21	BX46D	2	4.26	8.52
BM	51 13	7 478 669 : B1-Grille, front, left	10/29/18	5/13/21	219TOP	1	71.81	71.81
BM	51 13	7 478 670 : B1-Grille, front, right	7/18/19	5/05/21	213G	1	71.81	71.81
BM	51 13	7 497 215 : B1-Air flaps, lower	7/18/17	5/14/21	234A	1	145.00	145.00
BM	51 13	7 497 227 : B1-Air flaps, upper	7/19/18	5/13/21	234C	4	151.93	607.72
BM	51 13	7 497 285 : B1-Air flaps, lower	4/04/18	5/19/21	202TOP	3	112.00	336.00
BM	51 13	8 054 531 : B1-Licence plate base	8/12/15	5/27/21	221C	1	44.20	44.20

MF	Part	Number/Description	In	Last	Bin/Shelf	Qty	Cost	Ext Cost
BM	51 13	9 463 485 : B1-License-plate carrier front	4/29/21	5/06/21	133A	1	38.76	38.76
BM	51 13	9 498 600 : B1-Grill, air intake, open, ri	4/17/21	5/19/21	219C	1	40.03	40.03
BM	51 14	7 224 616 : B1-Lettering right	9/29/09	5/14/21	BX34G	1	41.67	41.67
BM	51 14	7 345 059 : B1-Label	4/20/15	5/12/21	BX42H	5	41.67	208.35
BM	51 14	7 362 479 : BISA-Label	1/21/11	5/17/21	BX51B	1	41.67	41.67
BM	51 14	8 132 375 : BISA-Badge	2/01/88	5/17/21	102D	6	30.87	185.22
BM	51 14	8 219 237 : B0B1-Badge	4/06/01	5/04/21	BX30D	1	30.87	30.87
BM	51 14	8 737 319 : B1-Label	3/01/19	5/05/21	BX52A	3	27.78	83.34
BM	51 14	8 737 323 : B1-Label	3/01/19	5/05/21	BX49B	2	41.67	83.34
BM	51 16	1 881 149 : B0B1BIMIRSAZN-EXPANDING RIVET	10/01/95	5/28/21	BX7C	31	.23	7.13
BM	51 16	7 354 631 : B1-Mirror glas heated plane le	1/02/15	5/14/21	106H	1	83.34	83.34
BM	51 16	7 414 650 : B1-Turn signal lamp ex.rearvie	10/24/18	5/20/21	204C	1	38.29	38.29
BM	51 16	7 422 720 : B1-Cover cap, primed, right	10/24/18	5/20/21	204C	1	82.04	82.04
BM	51 16	7 444 266 : B1-Set of screws	10/24/18	5/20/21	BX23E	1	24.36	24.36
BM	51 16	7 947 274 : B1-Mirror glas, convex, right	5/31/19	5/20/21	105F	1	218.57	218.57
BM	51 17	7 238 100 : B1-Cover pot	3/09/15	5/10/21	216C	2	31.77	63.54
BM	51 21	7 175 652 : B1-Bowden cable, door opener,	6/18/12	5/28/21	239A	1	21.60	21.60
BM	51 21	7 202 143 : BIMISA-System latch, left	10/04/10	5/29/21	202E	1	156.79	156.79
BM	51 21	7 229 458 : BIMISA-System latch, right	10/04/10	5/14/21	203A	1	156.79	156.79
BM	51 23	7 178 753 : BIMISA-Lock f hood	10/17/11	5/03/21	103T	1	72.01	72.01
BM	51 23	7 183 762 : B1-Lock, hood, passive, right	10/20/09	5/28/21	102K	1	125.07	125.07
BM	51 23	7 184 456 : BISA-Bowden cable, hood mechan	2/05/13	5/03/21	239G	3	19.44	58.32
BM	51 23	7 184 603 : B1-Bowden cable, front	4/04/15	5/12/21	239C	1	17.68	17.68
BM	51 23	7 201 904 : BISA-Bowden cable, rear	3/23/10	5/13/21	239H	3	17.68	53.04
BM	51 23	7 247 079 : BIMIZN-Twist protection	11/21/13	5/05/21	BX72C	4	2.84	11.36
BM	51 23	7 441 080 : BIMI-Catch bracket	11/21/13	5/05/21	BX57C	2	15.31	30.62
BM	51 23	7 411 315 : B1-Bowden cable, hood, front	6/04/14	5/20/21	239A	1	19.64	19.64
BM	51 24	7 191 212 : B1-Trunk lid lock	3/21/13	5/03/21	105J	1	123.42	123.42
BM	51 24	7 269 543 : B1RR-Trunk lid lock, top	3/19/13	5/01/21	116E	1	2.10	2.10
BM	51 24	8 226 003 : BIMI-Blind rivet nut, flat hea	7/01/14	5/12/21	BX44B	4	26.87	108.75
BM	51 31	7 203 121 : B1-Cover, windshield, top	1/05/11	5/13/21	239E	2	2.14	4.28
BM	51 31	7 288 462 : BIBIMIRRN-Bump stop	5/15/13	5/22/21	BX50H	61	36.91	2258.26
BM	51 31	7 357 235 : B1-Cover, windshield, top	4/14/16	5/22/21	239F	1	24.95	24.95
BM	51 31	7 399 014 : B1-Cover, windshield, top	5/11/18	5/12/21	239H	2	108.75	217.50
BM	51 33	7 289 609 : B1-Door weatherstrip front	10/16/15	5/12/21	MI-SIDE	1	33.53	33.53
BM	51 43	5 A04 9B1 : B1-Cover column B left	7/18/19	5/28/21	221D	5	33.53	167.65
BM	51 43	5 A04 9B2 : B1-Cover column B right	7/18/19	5/28/21	221E	7	33.53	234.71
BM	51 43	7 001 491 : BIMIRSA-Clip Natur	8/26/09	5/28/21	BX7C	6	.42	2.52
BM	51 47	2 285 310 : B1-Floor mats, all-weather, fr	3/13/14	5/14/21	225B	2	71.25	142.50
BM	51 47	2 285 521 : B1-BMW Cargo Liner	8/09/14	5/28/21	233TOP	1	96.00	96.00
BM	51 47	2 350 421 : B1-Floor mats, all-weather, re	7/05/14	5/14/21	222B	1	49.50	49.50
BM	51 47	2 365 853 : B1-Floor mats, all-weather, f	11/18/15	5/27/21	222G	1	74.25	74.25
BM	51 47	2 365 856 : B1-Floor mats, all-weather, re	11/18/15	5/27/21	222F	1	54.00	54.00
BM	51 47	2 414 218 : B1-Floor mats, all-weather, fr	3/29/17	5/01/21	222H	1	78.00	78.00
BM	51 47	2 414 219 : B1-Floor mats, all-weather, re	3/29/17	5/01/21	222H	1	66.00	66.00
BM	51 47	2 451 585 : B1-Floor mats, all-weather, fr	11/13/18	5/03/21	223B	1	78.00	78.00
BM	51 47	2 451 586 : B1-Floor mats, all-weather, re	11/13/18	5/03/21	223B	1	66.00	66.00
BM	51 47	2 458 555 : B1-Floor mats, all-weather, re	4/24/19	5/25/21	222E	2	67.50	135.00
BM	51 47	2 469 121 : B1-Floor mats, all-weather, fr	5/22/20	5/28/21	223E	1	74.25	74.25
BM	51 47	2 469 123 : B1-Floor mats, all-weather, re	5/22/20	5/28/21	222J	1	54.00	54.00
BM	51 48	7 458 549 : B1-Sound insulation windshield	11/26/19	5/01/21	121C	4	42.63	170.52
BM	51 48	9 493 821 : BIMISA-Sound insulation windsh	8/03/18	5/22/21	121C	1	45.06	45.06
BM	51 49	8 237 075 : BOB1BIMIRR-EXPANDING RIVET	9/30/10	5/20/21	BX74A	5	.35	1.75

MF	Part	Number/Description	In	Last	Bin/Shelf	Qty	Cost	Ext Cost
BM	51 64	7 200 794 : B1-SUPPORT RIGHT	4/18/12	5/28/21	220F	2	128.25	256.50
BM	51 64	7 285 597 : B1-BRACKET HEADLIGHT LEFT	6/17/13	5/18/21	101H	2	6.37	12.74
BM	51 64	7 285 598 : B1-BRACKET HEADLIGHT RIGHT	8/14/14	5/18/21	BX67H	2	6.37	12.74
BM	51 64	7 294 543 : B1-Module mount, left	11/05/14	5/12/21	216D	2	83.69	167.38
BM	51 64	7 308 803 : B1-Lock panel	8/14/14	5/06/21	101I	3	13.58	40.74
BM	51 64	7 332 893 : B1-air duct	12/10/14	5/28/21	229TOP	1	212.85	212.85
BM	51 64	7 400 113 : B1-Mount for headlight, left	7/19/18	5/13/21	215B	1	134.29	134.29
BM	51 64	7 400 114 : B1-Mount for headlight, right	8/17/18	5/27/21	216F	1	134.29	134.29
BM	51 71	2 240 775 : B1-Fr. radiator grill black hig	6/27/12	5/08/21	212E	1	52.48	52.48
BM	51 71	2 240 778 : B1-Fr. radiator grill black hig	6/27/12	5/08/21	212E	1	52.48	52.48
BM	51 71	7 002 953 : B1-MIRRSA-EXPANDING RIVET	8/15/01	5/12/21	101D	48	.63	30.24
BM	51 71	7 055 847 : B1-Clip	12/03/10	5/12/21	BX32B	3	1.25	3.75
BM	51 71	7 065 773 : B1MIRRSAZN-C-clip nut	4/06/12	5/20/21	BX35C	17	.71	12.07
BM	51 71	7 154 520 : B1BIRRSA-Expanding nut	4/30/12	5/12/21	BX63A	7	.35	2.45
BM	51 71	7 445 679 : B1-Cover, bottom left	11/15/18	5/05/21	230TOP	1	31.89	31.89
BM	51 71	7 445 680 : B1-Cover, bottom right	4/26/19	5/05/21	215TOP	1	31.89	31.89
BM	51 71	7 445 682 : B1-Cover, wheelhousing, fr. se	4/26/19	5/06/21	233A	1	65.88	65.88
BM	51 71	8 232 894 : B1-Cover, windshield	10/06/11	5/21/21	207TOP	1	65.66	65.66
BM	51 71	8 259 788 : B1M-EXPANDING RIVET	1/19/06	5/21/21	BX7E	6	.38	2.28
BM	51 74	7 290 610 : B1-Air ducts to radiator	4/10/14	5/06/21	224G	2	47.06	94.12
BM	51 74	7 290 611 : B1-Air duct, brake, left	7/27/15	5/05/21	PB1	1	30.37	30.37
BM	51 74	7 343 798 : B1-Air duct	10/17/14	5/13/21	229TOP	1	260.94	260.94
BM	51 74	7 343 803 : B1-air duct	8/13/15	5/13/21	214G	1	43.28	43.28
BM	51 74	7 343 804 : B1-Air duct, brake, right	5/02/15	5/13/21	204G	2	43.23	86.46
BM	51 74	7 383 845 : B1-Air duct, radiator, top	3/26/19	5/03/21	PB1	2	34.69	69.38
BM	51 74	7 399 996 : B1-Air duct, radiator, top	7/19/18	5/13/21	219TOP	2	47.06	94.12
BM	51 74	7 399 997 : B1-Air duct, radiator, bottom	7/19/18	5/05/21	215TOP	1	28.91	28.91
BM	51 74	7 400 003 : B1-FRONT LEFT BRAKE AIR DUCT	5/14/19	5/11/21	217B	1	28.91	28.91
BM	51 74	7 400 004 : B1-FRONT RIGHT BRAKE AIR DUCT	5/14/19	5/11/21	202B	1	28.91	28.91
BM	51 74	7 400 006 : B1-Air duct, brake, wheelhousi	5/14/19	5/11/21	216B	1	28.91	28.91
BM	51 74	8 054 591 : B1-Air duct, bottom	8/06/15	5/06/21	225E	1	44.80	44.80
BM	51 74	9 854 640 : B1-Air flap control, active, u	8/29/19	5/13/21	104H	2	52.44	104.88
BM	51 75	7 312 830 : B1-Cover, bottom right	9/29/11	5/28/21	218C	1	37.27	37.27
BM	51 75	7 394 744 : B1-Underhood shield	4/26/19	5/05/21	214TOP	1	135.79	135.79
BM	51 75	8 035 943 : B1-M engine compartment encaps	3/18/13	5/21/21	240	1	111.13	111.13
BM	51 76	7 019 804 : B1-Support, seal, front right	4/03/12	5/28/21	231TOP	1	126.55	126.55
BM	51 76	7 060 229 : B1-Door weatherstrip front	9/28/10	5/14/21	214TOP	1	78.16	78.16
BM	51 76	7 162 587 : B1RR-Clip, roof frame strip	4/22/10	5/11/21	BX63C	30	.92	27.60
BM	51 76	7 182 269 : B1-Seal for door, front	10/19/13	5/06/21	234A	1	96.66	96.66
BM	51 76	7 182 287 : B1-Seal for door, rear	11/10/11	5/06/21	234A	1	96.66	96.66
BM	51 76	7 255 802 : B1-FRONT ENGINE HOOD SEALING	6/17/13	5/05/21	239G	4	22.19	88.76
BM	51 76	7 318 509 : B1-Sealing, B-column, bottom 1	10/16/15	5/12/21	239D	1	24.77	24.77
BM	51 76	7 349 603 : B1-UPPER LEFT ENGINE COMPARTME	6/13/18	5/05/21	228B	1	14.61	14.61
BM	51 76	7 389 661 : B1-Seal, A-pillar, left	10/28/15	5/12/21	219A	1	45.27	45.27
BM	51 76	7 397 490 : B1-UPPER RIGHT ENGINE COMPARTM	5/03/19	5/05/21	217A	1	37.81	37.81
BM	51 77	7 466 618 : B1-Door weatherstrip	10/29/19	5/20/21	220TOP	2	82.97	165.94
BM	51 77	7 171 002 : B1MIRRSA-Clip	8/13/10	5/05/21	BX27C	13	.62	8.06
BM	51 77	7 210 081 : B1-Cover, wheel arch, front le	11/06/13	5/18/21	207A	2	106.70	213.40
BM	51 77	7 400 671 : B1-Wheel arch trim, left front	4/08/19	5/13/21	217TOP	2	112.03	224.06
BM	51 91	0 429 328 : O1B0B1-Touch-up Stick Glacier	3/05/13	5/12/21	PAINT	1	21.75	21.75
BM	51 91	2 347 904 : B0B1M1-IK Primer Filler - aero	12/29/08	5/27/21	118A	5	22.87	114.35
BM	52 10	3 455 246 : SA-Basic seat upholstery	3/18/02	5/27/21	212TOP	1	487.59	487.59
BM	52 20	1 964 201 : B1RSA-Clip, black			BX7B	14	.42	5.88

MF	Part	Number/Description	Invent	Last Sale	Bin/Shelf	Qty	Cost	Ext Cost
BM	54	10 7 391 796 : B1ZN-Blind, panorama roof, ele	6/21/17	5/07/21	233B	1	280.06	280.06
BM	61	12 6 991 952 : B1-Set of cables, front bumper	7/19/19	5/06/21	110I	1	111.41	111.41
BM	61	12 9 312 133 : B1-Rep. wire for B+	3/06/13	5/17/21	110D	1	13.45	13.45
BM	61	12 9 321 955 : B1-Wiring harness, front end	11/05/14	5/13/21	106J	1	172.61	172.61
BM	61	12 9 387 439 : B1-Rep. cable for electric fue	3/29/17	5/12/21	120C	1	4.63	4.63
BM	61	13 2 359 993 : B1MI-Rep. kit for socket housi	9/07/16	5/10/21	BX43H	1	12.85	12.85
BM	61	13 2 359 997 : B0B1BIMIRRSA-Rep. kit for so	4/05/16	5/25/21	BX54B	1	13.88	13.88
BM	61	13 2 359 999 : B0B1BIMIRRSA-Rep. kit for so	9/30/99	5/05/21	BX60C	1	13.98	13.98
BM	61	13 6 920 760 : B0B1BIMIRRSA-Polyester-glass m	3/13/12	5/10/21	121C	1	5.88	5.88
BM	61	13 6 931 880 : B0B1BIMIRRSA-Terminal socket M	9/13/11	5/10/21	BX61E	13	1.77	23.01
BM	61	13 8 353 747 : B0B1BIMIRRSA-Cable connector	4/28/03	5/20/21	BX61B	13	.71	9.23
BM	61	13 8 365 356 : B0B1MIRRSA-Universal socket ho	9/21/10	5/10/21	BX53E	1	3.39	3.39
BM	61	13 8 366 245 : B0B1BIMIRRSA-Single conductor	12/12/11	5/10/21	BX66A	4	.37	1.48
BM	61	13 8 727 251 : B0B1BIMIRRN-Crimp connector w	3/17/20	5/25/21	BX61C	22	1.12	24.64
BM	61	14 9 119 445 : B1SA-Power distribution box, f	8/27/10	5/20/21	SPORD	1	134.74	134.74
BM	61	21 2 357 334 : B1-EP Battery 110AH	2/21/14	5/20/21	BATT	2	174.76	385.52
BM	61	35 6 827 063 : B1SA-Footwell module 3	4/23/14	5/24/21	202A	1	350.28	350.28
BM	61	35 9 364 819 : B1SA-Junction box for electron	11/17/14	5/20/21	116C	1	299.38	299.38
BM	61	43 2 408 594 : B1MISA-Battery charger	9/08/14	5/12/21	117F	4	105.00	420.00
BM	61	61 0 038 893 : B1SA-Set of wiper blades	7/09/12	5/06/21	102TOP	2	33.16	66.32
BM	61	61 2 158 219 : B1SA-Set of wiper blades	8/16/13	5/10/21	103TOP	2	34.27	68.54
BM	61	61 2 163 749 : B1RR-Set of wiper blades	5/27/11	5/25/21	105TOP	2	36.83	73.66
BM	61	61 2 219 147 : B1-Set of wiper blades	7/21/15	5/06/21	103TOP	3	34.27	102.81
BM	61	61 2 455 442 : B1-Set of wiper blades	4/05/06	5/12/21	102TOP	1	34.81	34.81
BM	61	62 2 990 035 : B1SA-WIPER BLADE	8/26/13	5/10/21	103TOP	1	11.59	11.59
BM	61	62 7 366 057 : B1ZN-Rear window wiper arm	3/19/19	5/10/21	133D	1	36.01	36.01
BM	61	62 7 366 061 : B1ZN-WIPER ARM COVER	3/01/19	5/19/21	133G	1	6.74	6.74
BM	61	67 7 179 311 : B1-Telescopic nozzle	7/19/06	5/10/21	102F	1	66.05	66.05
BM	61	67 7 211 209 : B1-Cover, spray nozzle, primed	12/03/10	5/28/21	BX69E	1	42.58	42.58
BM	61	67 7 211 210 : B1-Cover, spray nozzle, primed	2/12/10	5/28/21	BX72E	1	42.63	42.63
BM	63	11 7 263 051 : B1SA-Set of LED modules	1/25/12	5/17/21	102K	2	210.52	421.04
BM	63	11 7 268 653 : B1-Seal, turn signal and parki	4/18/12	5/29/21	BX72B	3	17.40	52.20
BM	63	11 7 316 217 : B1-Headlight driver module AHL	4/03/12	5/28/21	204C	1	383.26	383.26
BM	63	11 7 317 109 : B1-AHL-xenon headlight, left	11/05/14	5/14/21	230B	2	1251.04	2502.08
BM	63	11 7 317 408 : B1RR-CONTROL UNIT XENON LIGHT	1/28/15	5/13/21	116G	2	395.94	791.88
BM	63	11 7 377 853 : B1-Bi-xenon headlight AKL, left	7/27/15	5/06/21	230B	1	919.86	919.86
BM	63	11 7 381 444 : B1-Repair kit for headlight le	3/21/16	5/13/21	105D	1	19.42	19.42
BM	63	11 7 419 618 : B1-LED module for turn signal,	1/08/19	5/06/21	105F	1	360.30	360.30
BM	63	11 7 931 710 : B1-Set of retainers for headli	8/17/18	5/05/21	104F	1	37.76	37.76
BM	63	11 8 496 160 : B1-Headlight, LED, AHL, right	5/19/20	5/19/21	230B	1	1711.61	1711.61
BM	63	14 7 191 111 : B1-Side marker reflector, left	11/03/11	5/21/21	104E	1	18.90	18.90
BM	63	14 7 191 112 : B1-Side marker reflector, righ	11/03/11	5/21/21	104D	1	18.90	18.90
BM	63	14 7 274 433 : SA-Set, side marker light	3/07/11	5/19/21	116C	1	31.91	31.91
BM	63	14 7 290 091 : B1-Reflector left	3/14/14	5/07/21	115G	1	18.90	18.90
BM	63	14 7 290 092 : B1-Reflector right	3/14/14	5/07/21	203D	1	18.90	18.90
BM	63	14 7 290 093 : B1-Side marker reflector, left	3/20/15	5/12/21	116D	3	18.90	56.70
BM	63	14 7 290 094 : B1-Side marker reflector, righ	10/17/14	5/19/21	118D	5	18.90	94.50
BM	63	14 7 433 785 : B1-Side marker reflector left	6/13/19	5/20/21	103F	1	21.64	21.64
BM	63	17 7 248 912 : B1-Fog lights, right	8/01/12	5/24/21	203E	1	106.87	106.87
BM	63	17 7 317 252 : B1-Front fog lamp, LED, right	10/13/14	5/19/21	202E	1	161.31	161.31
BM	63	21 7 160 805 : B0B1MIRRSA-BULB	11/11/05	5/06/21	BX10G	9	2.40	21.60
BM	63	21 7 369 115 : B1-Rear light in the side pane	1/24/17	5/04/21	215A	1	221.29	221.29
BM	64	11 8 247 773 : B0B1RR-Lock Ring	5/22/15	5/26/21	BX3F	14	.65	9.10

MF	Part Number/Description	Invent	Last Sale	Bin/Shelf	Qty	Cost	Ext Cost
BM	64 22 9 176 945 : BIBI-Rear ventilation	7/01/14	5/13/21	116F	3	18.44	55.32
BM	64 31 9 171 858 : BI-MICROFILTER/ACTIVATED CARBO	9/26/03	5/22/21	105A	4	34.24	136.96
BM	65 77 9 196 042 : BI-Sensor, front	9/18/13	5/18/21	102J	1	73.18	73.18
BM	66 20 9 142 107 : BIRRSA-Decoupling ring PDC tor	3/07/12	5/20/21	BX50G	6	2.56	15.36
BM	66 20 9 261 581 : BI-Ultrasonic sensor, Mineral	7/03/14	5/19/21	BX18D	1	185.57	185.57
BM	66 20 9 261 587 : BI-Ultrasonic sensor, Alpine W	5/22/15	5/20/21	BX19B	2	185.57	371.14
BM	66 20 9 261 588 : BI-Ultrasonic sensor, Mineral	8/29/16	5/24/21	BX8B	2	185.57	371.14
BM	66 20 9 274 428 : BIBIMIZN-Ultrasonic sensor, bl	4/18/16	5/05/21	BX55B	3	125.59	376.77
BM	66 51 7 911 468 : BIRR-KaFAS camera	8/27/19	5/19/21	101J	1	1161.75	1161.75
BM	71 22 8 655 982 : BI-Label Exhaust emission	2/03/16	5/06/21	BX35D	1	12.40	12.40
BM	71 23 6 832 295 : BI-Label, coolant	8/17/18	5/05/21	BX25F	1	12.40	12.40
BM	72 11 7 259 387 : BI-Belt tensioner, left	9/18/13	5/11/21	108TOP	2	122.00	244.00
BM	72 11 7 284 489 : BI-Covering cap	9/08/15	5/05/21	104F	1	13.71	13.71
BM	72 12 6 995 901 : BI-Airbag for front passenger	11/03/17	5/12/21	111TOP	2	168.00	336.00
BM	80 14 2 461 094 : B0B1BI-BMW Motorsport rain j		5/26/21	115B	4	53.04	212.16
BM	80 16 2 454 620 : B0B1BI-BMW Cap logo	4/04/19	5/21/21	115B	3	21.12	63.36
BM	80 16 2 461 127 : 01B0B1BI-BMW Motorsport coll		5/17/21	116B	5	23.12	115.60
BM	80 16 2 463 073 : 01B0B1BI-BMW Motorsport fan	1/21/21	5/20/21	PI	2	14.96	29.92
BM	80 21 2 336 954 : BI-Mens M Wallet - Black	1/31/13	5/01/21	117C	1	27.72	27.72
BM	80 23 0 408 541 : B0B1-Tear Drop	7/21/09	5/17/21	CD1	2	14.30	28.60
BM	80 27 2 454 649 : B0B1BI-BMW keyring 3-Series	8/14/98	5/08/21	117B	2	21.12	42.24
BM	80 42 2 413 805 : 01B0B1BI-BMW miniatur pullback	11/19/18	5/25/21	CD2	1	7.59	91.08
BM	80 90 0 440 458 : B0B1-Travel Mug - Red	6/30/10	5/29/21	117G	5	13.44	67.20
BM	80 90 2 296 732 : B0B1-Ladies Polo Blend, Black	4/08/19	5/19/21	SPORD	1	21.08	21.08
BM	80 90 2 349 469 : BI-Mens Solid Polo-Navy-L	6/21/16	5/21/21	CRL	1	35.52	35.52
BM	80 93 2 413 784 : B0B1BI-BMW Baby Racer III	6/17/16	5/25/21	118TOP	1	98.04	98.04
BM	80 93 2 413 787 : 01B0B1-BMW Motorrad RI200 GS p	10/17/18	5/21/21	118A	2	75.24	150.48
BM	82 12 0 042 710 : BI-Laser Slimline Plate - Blac	3/17/15	5/19/21	117D	2	22.91	45.82
BM	82 71 2 455 808 : BI-Railing carrier	10/09/19	5/14/21	232A	1	259.78	259.78
BM	83 12 2 285 678 : BI-BMW Natural Air refill kit,	4/17/15	5/01/21	COUNTER	1	9.38	9.38
BM	83 12 2 298 210 : 01B0B1-Leather cleansing foam	7/06/16	5/01/21	COUNTER	6	13.35	80.10
BM	83 12 5 A07 EC3 : BI-BMW Natural Air Lava Black	3/08/21	5/29/21	COUNTER	6	20.40	122.40
BM	83 19 0 301 414 : BIMIRRSA-Blind rivet N1	11/20/09	5/04/21	BX40C	16	1.13	18.08
BM	83 19 0 301 421 : BIMIRRSA-Blind rivet N3	11/20/09	5/28/21	BX63F	212	.22	46.64
BM	83 19 0 301 639 : BIMISA-Screw	11/20/09	5/28/21	BX29E	30	.22	6.60
BM	83 19 0 404 517 : 01B0B1BIMIRRSA-Loctite 5970 11	1/02/07	5/28/21	121B	4	17.20	68.80
BM	83 19 0 417 324 : 01B0B1BIMISA-Cleanser R2	8/28/12	5/19/21	118A	2	7.28	14.56
BM	83 19 2 157 298 : BIMIRRSA-Body adhesive K5	5/25/10	5/28/21	121E	6	140.42	842.52
BM	83 19 2 158 079 : BIMIRRSA-Punch rivet N5	5/24/10	5/06/21	BX63B	91	.26	23.66
BM	83 19 2 158 654 : BIMIRRSA-Body adhesive K5	4/30/12	5/20/21	121E	4	65.00	260.00
BM	83 19 2 286 940 : BI-BMW Convenience Wipes	11/16/15	5/11/21	COUNTER	45	3.63	163.35
BM	83 19 2 286 942 : BI-BMW Convenience Wipes	4/03/14	5/11/21	CD2	50	3.63	181.50
BM	83 19 2 339 679 : BI-Interior cleaner	4/03/14	5/01/21	COUNTER	12	4.41	52.92
BM	83 19 2 446 567 : B0B1MI-BMW Group Industrial GI	4/15/17	5/19/21	118A	8	3.86	30.88
BM	83 19 2 450 789 : B0B1MI-BMW Group Brake Pad Pas	10/20/17	5/03/21	116A	17	16.25	276.25
BM	83 19 2 455 136 : BI-BMW Car Wash Shampoo Concen	7/30/18	5/08/21	COUNTER	2	4.98	9.96
BM	83 19 2 455 989 : B0B1MI-Disposable Coated Paper	12/02/19	5/11/21	COUNTER	1	66.60	66.60
BM	83 19 2 457 307 : BIMIRRSA-Punch rivet N4	5/25/10	5/28/21	BX38F	72	.22	15.84
BM	83 22 2 289 720 : BIMIRRSA-Automatic transmissio	3/28/16	5/28/21	109G	18	38.82	698.76
BM	83 22 2 339 219 : 01B0B1SA-Oil for manual transm	3/03/16	5/29/21	109G	7	26.86	188.02
BM	84 10 8 729 587 : BI-Telematic Communication Box	5/21/20	5/24/21	105G	1	525.83	525.83

Grand Total: 73270.31

PD3041R
JDEF01

BMW OF BRIDGEWATER
Inventory Adjustments

6/14/21 14:25:54

4

From 5/01/21 to 5/31/21	All Manf, All	Stocking Groups	#	Pieces	Value
Manual Increases			15	39	1285.81
Manual Decreases			41	-170	-3386.81
Net Manual Adjustments			56	-131	-2101.00
Physical Inventory Increases					
Physical Inventory Decreases					
Net Physical Inventory Adjustments					
LIFO Increases			57	173	1231.71
LIFO Decreases			31	57	-120.56
Net LIFO Adjustments			88	230	1111.15



=====
All Manf, All Stocking Groups
=====

Changes to Status:			Phase-In	Phase-Out
June	2021		1	81
February	2021 To May	2021	3	375
November	2020 To February	2021	1	585
August	2020 To November	2020	8	13
May	2020 To August	2020	46	33
February	2020 To May	2020	24	70
February	2020 and Older		1491	3201
Inactive Parts to Phase-In			829	
Parts to Phase-Out			788	
Parts Excluded From Phase-In			1189	
Non-Stocked Parts with On Hand			1362	
Superceded Parts with On Hand			34	
Active Parts with No Sales			2	

Sales Source Analysis

6

All Manf, All Stocking Groups, All Parts, All Sales Types	From	5/01/21	5/01/21	5/01/21	5/01/21
	To	5/31/21	5/31/21	5/31/21	5/31/21
	Sales	Cost	Gross	GP %	
Sales Filled From Shelf	259909.96	194235.00	65674.96	25.3	
Sales Filled By NG					
Sales Filled By EP	5391.11	3823.68	1567.43	29.1	
Sales Filled By SO	270204.88	208213.39	61991.44	22.9	
Total Sales	535505.90	406272.07	129233.83	24.1	
Returns To Inventory	-16994.20	-15467.38	-1526.82	-9.0	
Returns Not To Inventory					
Total Returns	-16994.20	-15467.38	-1526.82	-9.0	
Net Sales	518511.70	390804.69	127707.01	24.6	
Filled From Shelf-Counter	30.4%	30.2%	31.9%		
Filled From Shelf-Service	59.7%	60.9%	56.7%		
Filled Same Day--Counter	30.5%	30.2%	32.0%		
Filled Same Day--Service	61.3%	62.6%	58.2%		

PD3071R
JDEP01

BMW OF BRIDGEWATER
Stock Order Analysis

6/14/21 14:33:56



From	5/01/21 to	5/31/21	All Manf, All	OEM Cd, All	SGrp		
			#	Pieces	Cost	Value	
Stock Orders Placed	960	4727	96279.48	168813.11			
Stock Orders Received	967	24101	104723.25	185863.31			
Special Orders Placed	905	1413	157953.45	171743.99			
Special Orders Received	983	1561	202360.25	216362.39			
Parts Canceled	8	406	1003.67	3558.01			
Factory Returns	136	163	23817.99	27905.05			
Core Returns	33	45	4598.00	4814.00			
Parts On Order		623	30811.09	36813.77			
Parts On Backorder		12	3.14	37.68			
Parts Referred							

Stock Order Criteria

Non-Stocking Parts

Daily Demand: **70** percent of recent **30** days demand
30 percent of previous **365** days demand
Days Supply: Based on demand of **365** days

	<u>Demand</u>	<u>Days Supply</u>	<u>Reorder Point</u>
0 To	3	35	25
4 To	12	25	20
13 To	35	20	15
36 To	100	15	11
101 To	500	11	8
501 To	99999	8	6

Do not order if less than **5** days in inventory

